2 -13.2 Volume Day 2.notebook

Bell Ringer

Thursday 5/9

1. You have a bag of marbles. There are 4 white 3 pink and 2 yellow. Calculate the following probabilities

u..

a. Plwhite, white) =
)o
b. P(yellow, not yellow) = 1
™
\0

d. P(yellow, not yellow) =

With Replacement:

NS
™

Without Replacement:

2. You draw one card from a standard deck of cards.

¢. P{white, white) =

between
b. P{face card and black) = ¢. P(batween 2and5)=
—_——

2
26

a. Plred iﬂd plack) =

O

b
s2 52

2 -4

20
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| 3 “atal
Section 14.6 i

Categorical Dot J Name: K%’ UI

Hour: ./
Bartt

What's your favorite color? i

When asker this question, the most popular color named was bive, !

Ko =

Male = M Female=F ) i

Blug = B Mot Slue= N ) Blue Mot ilue Total
Sample size.= 200 ~ | ] .
e size. Vole ?(& ;;L g’ (p"{ i )
l. PI;B}!' 84’?.0'0 SEP S SR :
g - vl 99 | 136 || % or
.fi * | M) =B3/200 Female | E,,f X ¢ v '

PIF|B) = 48/84 L : .

- o B9 | U | 200

PlBIF) = ,'%‘.%

FiMB) = %
2o

i
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7 288

f
Part I

Are you a lefty or a righty?

Male = M Female=F
Lefty =L Righty = R Lefty Righty Total
samplesize= |

Male _7 tf 5 %(J.

2 iy GO

Female ! "%

P{M) = —59‘ | 5 C}('i }G{J

".GQ Total: ?C |

ruin= 28

P(LIM) = ___;1...

w

In this sample are there equal proportians of
males and females who are left handed? Explain,
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Part 1l

Do you eat breakfast or not?

Female = F RUU{\Q'{& Ao AN nearest \)\ﬂf"ﬂlﬁ o
Eats Brealfast =E  Doesn’t Eat Breakfast = Dt Eats | PQ?:"‘D‘_‘E__::LW_"
sample s| (SY= oo (L) §
ample size =
Male Qlkﬂ ["’9(5 3’]‘2'
291 - , 22y ()=
E= 2= = S, 27 2
o0 o Female Al - rj"_) ?,,:2,(8' (
PEIM) = 21\ :)13 e G%E.i‘/.] |
. BT Tl | 27 249173 600
@ P{ENIM) 2‘}_}5 - F‘W;—--—?‘;% |
&0 2% o

PIEIF}= AL - i,
%g 39.9Y,

PENF = Al = (G, 2%
o0
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13.1 due tomorrow - questions?
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odds

Math 2C Name 1D: 1

13.1: Volume Date Period

Find the volume of each figure. Round your answers to the nearest hundredth, if necessary. Leave
your answers in terms of n for answers that contain x.
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100 B 12)
L - j?km
14 km

13)
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RGVIGW. . What perceng of female Ilke SUVs’?
Sport Utility

Sports Car | Totals
Vehicle (SUV)

What percent €0 refer sports cars?
male | 2 39 60 g mp g_t_(p_ 369
| 240" 2%

female 13 45 180 What percen =S5
| | are female? —
Totals | 156 8 20 | [CESYre female e _ 53 \o'/
-3 ¢

What percen are males who

‘_é/\;&mk) prefer SUVS™
Fe"e'— S\KVS %}%S-% zl.‘ o) 8 (bl

Mathams.com
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Create a venn diagram, and fill in the table to answer the questions

160 people were surveyed - 105 like snowmobiles - 10 don't like snowmobiles or skateboards

80 like snowmobiles and skateboards

Total

(05

SS

lbD

10
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(Discuss exact vs rounded)

Composite Volume Guided Notes name

4 1n.

Example 1 Example 2
L
=<0
8 m

What two shapes can this break into?
‘t'\m C\Ab'& What two shapes can this break into?

t are the formulas for these two shapes?

rz 4 ﬂ What are the formulas for these two shapes?
Tk ‘w-h Ttg_ib

—
Volume of shape 1:

M4 2803 5 IR L B s33.5m
;Volumegshﬂpez E ‘“‘ \."nolumgffshﬂpe2 *" \ m
' Exade \oTr £1\25% 3 IL"" g =12 o Wt
- Gy 3
Total Volume: \-l% % L\ Total Volume: Lb_m &ﬂ’ "\

Example 3 Example 4
7 in.

11
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due Monday - quiz tomorrow
skip #4, 6, 10, 12, 13, 14

Composite Volumes Sec. 13.2 Name:

Packaging and Shipping. Tennis balls have a 3-inch diameter are sold in cans of three. The can
is a cylinder.

1. What is the volume of one tennis ball?

2. What is the internal volume (capacity) of the cylinder?

3. Assume the balls touch the can on the sides, top and bottom. How much space is left over?

Find the volume of each composite shape.

4. 5.

6 in.

5in.

——10m—>

6. The following ice cream cone is filled all the way to the bottom with ice cream. Find the volume of the ice

Cream. 6 EI_T_'I

7. Find the volume of the following metal washer. It is 0.5mm thick.

20mm

May 09, 2019
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Nutrition. The whole cake is 9 ecm high and 20 cm across. Each layer of cake is 2 cm thick, and each layer is
separatea By 1 cm of frosting.

8. What is the total volume of the entire cake (including the missing piece)?

9. What is the volume of one layer of frosting (including

the missing piece)?

Q What is the volume of all three layers of frosting?

(including the missing piece)?

11. What is the volume of one layer of plain cake What is the volume of all three layers of plain cake,

(without frosting) (including the missing piece)? without the frosting (including the missing piece)?

KA cone has been split vertically down the center and the two pieces have been placed together at their
bases to make a “canoe” shape. The length of the radius is 3 ft and the length of the canoe shape from

end to end is 34 ft. What is the volume of the figure?

, M i

radivs of cone =3 ft

2( Composite Figures Use the diagram of the backpack at the right. —
a. What two figures approximate the shape of the backpack? I

b. Whatis the volume of the backpack in terms of 7? 17in

¢. What is the volume of the backpack to the nearest cubic inch? ]

12in.

15. The sphere at the right fits snugly inside a cube with 6-in. edges. What is the P
approximate volume of the space between the sphere and the cube?

CAD 283 in’? > 102.9in.2

B> 76.5in.3 @B> 113.1in3

May 09, 2019
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